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(4) 2(3x+1)%y"+21(3x+1)y' +18y =0 (8%)

¢ AT A SRR Xy —(2x+1)y + (X +1D)y = (X* + x-1)e*
(1) @ oy, =e™ 5 + it ODE 2 - 42 » &K a=? (2%)
(2) B - A fRL HiEA U 5 P2 (8%)

carH pd RER G ABEE LA S my()+oyM) +ky(t) = () FRH TR
Boom=2 e R ilicc=0238F ¥ k=812 FEHIF I RETH L
it y(0)=02y(0)=0 > 3%- 4 % f(t)=4coswt » FER:

(1) # & hihp REBFF 0 =2 (2%)

(2) F Y0, Y, » BAAfE 2K W(y,,Y,)=? (4%)

B) ¥ w=2 #z5 P2 (A%) M PFj sLehi®ds 7 5 5 A2 (2%)

4) % ©=199 > Hja s P? (4%) s* P 4 s 7 5405 A2 (2%)

Filename: EMI-2023-mid02s.doc ~ by Y. T. Lee November 24, 2023



$41%:
1. —Hpd Bird a3 Hidi3 2585 my+cy+ky=0 > @ srip b ¥k
m=1, c=3, k=2 > 2K Fi4EF LT8R =B E F? (9%)
(1) 45 y(0)=4, y(0)=0
(2) #4eiE . y(0)=—4, y(0)=8
(3) A dpiE . y(0)=-4, y0)=-8

Displacement

Wb @d @3)e

2. TR ERA RS BREMTHBZEHBE P2 (9%)
1) y'®)+y'®+9y) =0, y(0)=18, y(0)=0
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* y0)=0 =C,=0
y(0)=0 =C,=0

y(t) :%t-sin 2t

y(t)+4y(t) = 2cos(1.99t)

= y(t) = 2;2) (coswt —cos m,t)

(0 —o

4 . + . -
= — sin 20 "%t gin £~ 2y
m(w; —o°) 2 2

= 22—?992 (c0s1.99t —cos 2t)

4 . 399, . 001
== ~sin——t-sin——t
2°-1.99 2 2

Filename: EMI-2023-mid02s.doc ~ by Y. T. Lee November 24, 2023



